H & 0l & AHS B Ml A

025HE =8 1 2] LErsH JI=0 At
/\-I I =01 &bk
Tz J|8 - EOF & ZEIHY
=3 JE - X3 2 (Gt H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
Ol &kt 4,130,844 5,315,706 1,184,862
< 14,449 14,449 0
z 4,116,3% 5,301,257 1,184,862
g2l JI= - EOF & 3FIe 432,581 565,881 133,300
LS 14,449 14,449 0
= 418,132 551,432 133,300
=g Jl&8 - XF 2 257,800 434,800 A177,000
ZHAIH F 194,600 371,600 A177,000
308 &= 12,000 0 12,000
01 Zaz 12,000 0 12,000
OZBZAY - FYUAM 224 Zd=z
12,000,000 14} 12,000 0 12,000
308 ARISMSOIE 11,000 0 11,000
13 SIS US4 HAS ALY 11,000 0 11,000
0205 =228 HId X 28 82
11,000,000 14} 11,000 0 11,000
401 AlZHIL 2] 0 200,000 200,000
01 A2l 0 200,000 200,000
O ALIOARLIEI Eted & JIZ2 A=
o) 89 38 03 0 200,000 200,000
AEOL 242 47,900 4,200 43,700
F=RUI AAEIL 24 47,900 4,200 43,700
308 2= 46,500 2,800 43,700
01 Zas 46,500 2,800 43,700
OZEHFRYRPEI 28 LY
24,700,000 14} 24,700 0 24,700
OXAICHH &5EIt L+EEN L4
18,000,000 14} 18,000 0 18,000
O=J12 HR4H0 HE PN L4
Z& 950,000 #4271 3,800 2,800 1,000
8 A& 246,883 245,383 1,500
olat By & 29 194,883 193,383 1,500
FUFOO AR 29 7,700 6,200 1,500
201 £er2aY| 7,700 6,200 1,500
01 At 2teltl 7,700 6,200 1,500
OFUHAULNE =3
6,500,000+ 14| 6,500 5,000 1,500
glgts HYdy Lo 64,676 60,476 4,200
TAIEE 22 64,676 60,476 4,200
TAES 64,126 59,926 4,200
308 &= 4,200 0 4,200
01 Za= 4,200 0 4,200
OX=dE ?+37d 4=
300, 0002 «7 23 4,200 0 4,200




S J1=0 A
M ZHEL AL
ter g2 - JIES 2 EER=E)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
2EEE 22| 47,614 963,560 ~15,946
E8 - JIEE 22 173,944 189,320 A 15,376
UAAAIT| 2H 153,660 165,520 A11,860
201 LEtE Y| 150,660 162,520 A11,860
01 Al22t2|H| 103, 140 115,000 A11,860
OYLAAI] g2t 103, 140 115,000 A11,860
OAEC|gY BHI= ME 29
FE 11,640,000 %14 11,640 12,000 A360
OoHg - OXtel 249
Fd 21,000,000 %14 21,000 22,000 A 1,000
ool - gt 8
A 70,500,000 %14 70,500 81,000 A10,500
Z2HIE BE 20,284 23,800 A3,516
201 Lete | 17,284 20,800 A3,516
® S229Y| 8,184 11,700 13,516
ORAADY Z270Y 0|22
AY 8,184,000 %14 8,184 11,700 N3,516
kbR 0|01KI 22l 773,670 774,240 A570
NS 29 22l 44,430 45,000 N570
201 LeE Y] 34,430 35,000 A570
01 AFR2t2ll 34,430 35,000 NA570
OSNs SEreI2d 29
B 18,430,000 %14 18,430 19,000 A570
T 22| 1,125,373 2,132,291 ~1,006,918
oleIEI(Ler3lH) 1,125,373 2,132,291 ~1,006,918
ollElbl(Ler3 ) 1,125,373 2,132,291 1,006,918
801 GilHIHl 1,125,373 2,132,291 ~1,006,918
01 LEHofibIgl 1,125,373 2,132,291 ~1,006,918
O0ultIb| ABE 1,125,373,0002 * 14! 1,125,373 2,132,291 ~1,006,918
CADHED|E & Haopg 22,000 2,000 20,000
Ole A&D|18t 2= 22,000 2,000 20,000
ko ANIA Y 20,000 0 20,000
308 XXM SOIA 20,000 0 20,000
18 SO 2SHHSHE A XA I 20,000 0 20,000
OUAANZIMNE EXF L ESX2 ME
20,000,000+ 14! 20,000 0 20,000
SN 2AAH|(DI2HZAIDIEE) 0 54,398 54,398
Ol 2AHH| (OIS AIDI=IE) 0 29,238 N29,238
Q2| (DI AIDI=IE) 0 29,238 N29,238
101 QIAH| 0 29,238 129,238
01 B 0 29,238 129,238
(GESn/E=1=Ra= 3 0¥ 0 29,238 129,238
J1=23HI(DIHSAID IR E) 0 25,160 n25,160
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HAE2HZHI(DIHSAIDIEH)
JI2ZHI(0leH = AIDI=IE)
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Jl2ZI(0lZAIDI=IE) 0 25,160 N25,160
201 L2 | 0 12,960 212,960
01 Ar22eltl 0 12,960 A 12,960
OgBt===H| Z2& 03 0 5,400 25,400
o=4| & 03 0 2,160 A2,160
ogx=z 28 02 0 5,400 25,400
202 04d| 0 10, 100 A 10,100
01 =WOdbI 0 10,100 210,100
OgRF& Jl=20] Z2& 03 0 10,100 10,100
203 =& 0 2,100 22,100
M RA2IHRFALI 0 2,100 22,100
OFRNM2ILRFAHI Z2& 03 0 2,100 A2,100




